		REL(BYPI	.)Price is	Gre	ater than	NDPL Pr	ice & GF	RN Da	ta													Anı	nexu	re-III	
																						No of I	tems		122
					ВҮР	PL										TPDDL						Amount In Cr.	(As Per	BYPL)	43.16
																								DERC Anala	ysis
S NO	FY	MATERIAL CODE	MAT DESCRIPTION	иом	VENDOR NAME	PO Ref NO	PO date	PO QUANTI TY ORDERE D	UNIT RATE - LANDED	PO ORDER VALUE	Material Code	MAT DESCRIPTION		IUFACTU : NAME	MAKE	PO Ref NO	PO date	PO QUANTITY ORDERED	UNIT RATE - LANDED	PO ORDER VALUE	REMARKS - BYPL	DERC Remarks	QTY	Final Unit Rate given by BYPL, considered for comparision. (In Rs.)	Final Unit Rate of NDPL, considered for comparision (PO/GRN). (In Rs.)
1	2005-06	2000743985	CBL AB 11KV XLPE AL 3CX150MM2+1C X150MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	0.78	652.70667	509.1112	4025000220	Cable ABC 11KV Size 3C X 150 + 1C 150SQMM XLPE STRD ALU COND W/Bare Catenaries Neutral Cum Messenger Wire of ALU Alloy.	IMIK C	CRYSTAL ABLE	Crystal	NDPL/ENGG/AP DRP/1060/04	04-11-2004	25000	550.00	1,37,50,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1060/04,0 4.11.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	0.78	652.71	550.00
2	2005-06	2000801995	CONNECTOR,INS ULTION PIERCING,16/95 SQMM	EA	RELIANCE INFRSTRUCTURE LIMITED	23007060	19-Oct-05	4466	92.56	413372.96	4084001050	INSULATING PIERCING CONNCECTOR CAT NO. P2X95 FOR LT ABC CABLE MAIN 16- 95 SQMM & SERVICE 4-35 (50) SQMM	NOS Elec	's Tyco etronics India (P) Ltd.		NDPL/ENGG/AP DRP/1208/05	16-02-2005	15040	68.00	10,22,720.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1208/05, 16.02.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	4466	92.56	68.00
3	2005-06	2000680422	TRANSFORMER,C URRNT,66KV,400 200/1-1-1-1A	EA	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	6	41547.488	249284.93	17231001002	CT 66KV RATIO 400-200 1/1/1/1A		s Kapco ic Pvt Ltd		NDPL/ENGG/19 59/04	11-05-2004	6	36,805.89	2,20,835.34		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1959/04,11.05.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	6	41547.49	36805.89
4	2004-05	2000675000	CBL ELEC ARM 650/1100V XLPE AL 4C 25MM2	М	RELIANCE INFRASTRUCTUR E LIMITED	23004582	21-Mar-05	15919	97.87	1557992.5	401000161	CABLE 1.1KV AL 4CX25 SQMM ARM	M M/ Telel	's M.P. links Ltd.	MP TELELINK S	3500000152	03-12-2007	70000	91.18	63,82,600.00	NDPL has only one order for this order whereas we have multiple orders at different times.	BYPL PO was Compared with the nearest purchase date of NDPL PO[3500000152,03:12,2007) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	15919	97.87	91.18
5	2005-06	2000675000	CBL ELEC ARM 1.1KV XLPE AL 4C 25MM2	М	RELIANCE INFRASTRUCTUR E LIMITED	23007998	20-Jan-06	100000	97.1984	9719840	401000161	CABLE 1.1kV AL 4CX25 SQMM ARM		's M.P links Ltd.	MP TELELINK S	3500000152	03-12-2007	70000	91.18	63,82,600.00	NDPL has only one order for this order whereas we have multiple orders at different times.	BYPL PO was Compared with the nearest purchase date of NDPL PO[3500000152,03:12.2007) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	100000	97.20	91.18
6	2005-06	2000675000	CBL ELEC ARM 1.1KV XLPE AL 4C 25MM2	М	RELIANCE INFRSTRUCTURE LIMITED	23006942	06-Oct-05	28582	92.1876	2634906	401000161	CABLE 1.1kV AL 4CX25 SQMM ARM		's M.P. links Ltd.	MP TELELINK S	3500000152	03-12-2007	70000	91.18	63,82,600.00	NDPL has only one order for this order whereas we have multiple orders at different times.	BYPL PO was Compared with the nearest purchase date of NDPL PO(3500000152,03.12.2007) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	28582	92.19	91.18
7	2005-06	2000675000	CBL ELEC ARM 1.1KV XLPE AL 4C 25MM2	М	RELIANCE INFRSTRUCTURE LIMITED	23006942	06-Oct-05	100000	92.1876	9218760	401000161	CABLE 1.1KV AL 4CX25 SQMM ARM		's M.P. links Ltd.	MP TELELINK S	3500000152	03-12-2007	70000	91.18	63,82,600.00	NDPL has only one order for this order whereas we have multiple orders at different times.	BYPL PO was Compared with the nearest purchase date of NDPL PO[3500000152,03:12,2007) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	100000	92.19	91.18
8	2004-05	2000070783	KIT STRT JNT 1.1KV 4CX25MM2 HS PVC	EA	RELIANCE ENERGY CONSTRUCTORS	23004504		5	424	2120		1.1 KV S/T, 4X25 PVC - HS		hem RPG Ltd		NDPL/ENGG/14 36/03	21-10-2003	100	346.00	34,600.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1436/03,21.10.20 03) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	5	424.00	346.00
9	2004-05	2000681132	KIT STRT JNT 11KV 3CX150MM2 HS XLPE	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	226	5441.7	1229824.2		11KV, 3X150 XLPE S/t - HS		hem RPG Ltd		NDPL/ENGG/14 36/03	21-10-2003	450	5,197.00	23,38,650.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1436/03,21.10.20 03) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	226	5441.70	5197.00

10	2004-05	2000687191	CONDUCTOR,AC SR,UN INSULATED,GOA T	м	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	7722	172.5	1332045	103200012	ACSR GOAT CONDUCTOR	MTR	AQUARIAN ENTERPRISES		NDPL/ENGG/17 27/04	28-02-2004	12000	137.75	16,53,000.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1727/04,28.02.20 04) in which unit rate of NDPL less than BYPL Unit Price so we consider NDPL Unit Price.	7722	172.50	137.75
11	2005-06	2000743192	FITTING,S/SUSPE NSION,COMP.,F/ ACSR GOAT	EA	RELIANCE INFRSTRUCTURE LIMITED	23005151	19-May-05	280	2152.8	602784	1217200070	SINGLE TENSION HARDWARE D FITTING FOR ACSR GOAT CONDUCTOR	NOS	AQUARIAN ENTERPRISES		NDPL/ENGG/17 27/04	28-02-2004	24	1,425.00	34,200.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1727/04,28.02.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	280	2152.80	1370.30
12	2004-05	2000765417	MID SPAN COMPRESSION JOINT F/GOAT COND.	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	46	1725	79350	408900003	MID SPAN JOINT COMPRESSIOM TYPE FOR ACSR GOAT CONDUCTOR	NOS	AQUARIAN ENTERPRISES		NDPL/ENGG/17 27/04	28-02-2004	10	512.50	5,125.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1727/04,28.0.2.0 O4) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	46	1725.00	512.50
13	2005-06	2000472382	POLE,RAIL,MS,10 5LBS	МТ	RELIANCE INFRSTRUCTURE LIMITED	23005459	13-Jun-05	11.985	29400.8	352368.59	1504700002	D RAIL MS 105 LBS	МТ	AQUARIAN ENTERPRISES		NDPL/ENGG/17 27/04	28-02-2004	6.76	36,990.00	2,50,052.40	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1727/04,28.0.2.0 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	11.985	29400.80	23500.00
14	2004-05	2000680422	TRANSFORMER,C URRNT,66KV,400- 200/1-1-1-1A	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	10	36931.1	369311	1723100100	2 CT 66KV RATIO 400-200 1/1/1/1A	NOS	M/s Kapco Electric Pvt Ltd		NDPL/ENGG/19 59/04	11-05-2004	6	36,805.89	2,20,835.34	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1959/04, 11.05.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	10	36931.10	36805.89
15	2004-05	2000686190	TRANSFORMER,P T,33KV/ROOT 3/110V/ROOT 3	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	12	32200	386400	1724900002	33 KV P.T. 110X1.73, 110X1.73, 110X1.73	NOS	M/s Kapco Electric Pvt. Ltd.	КАРСО	NDPL/ENGG/19 99/04	05-06-2004	45	14,648.00	6,59,160.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/1999/04,05.06.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	12	32200.00	14648.00
16	2004-05	2000790162	CONNECTOR,ME CHANICAL,185M M2 TO 400MM2	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	10	2172.5	21725	1213100120	MECHANICAL CONNECTOR 0 SIZE 185 TO 400 SQMM HT CABLE	NOS	M/s ALAKNANDA ENTERPRISES		NDPL/ENGG/23 51/04	23-09-2004	50	1,729.00	86,450.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2351/04, 23.09.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	10	2172.50	1729.00
17	2004-05	2000790161	CONNECTOR,ME CHANICAL,95M M2 TO 240MM2	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	10	1350.78	13507.8	1213100115	MECHANICAL CONNECTOR 0 SIZE 95 TO 240 SQMM HT CABLE	NOS	M/s ALAKNANDA ENTERPRISES		NDPL/ENGG/23 51/04	23-09-2004	50	1,235.00	61,750.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2351/04,23.0,9.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	10	1350.78	1235.00
18	2005-06	2000082999	KIT STRT JNT 11KV 3CX300MM2 HS XLPE	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	1	6726.72	6726.72	408800035	Jointing Kit 11KV ST TH 3x300 SQ MM XLPE HS TYPE	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	1500	5,722.00	85,83,000.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2424/04,04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	1	6726.72	5722.00
19	2004-05	2000082999	KIT STRT JNT 11KV 3CX300MM2 HS XLPE	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	404	6468	2613072	408800035	Jointing Kit 11KV ST TH 3x300 SQ MM XLPE HS TYPE	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	1500	5,722.00	85,83,000.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2424/04,04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	404	6468.00	5722.00
20	2004-05	2000082999	KIT STRT JNT 11KV 3CX300MM2 HS XLPE	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	2	6468	12936	408800035	Jointing Kit 11KV ST TH 3x300 SQ MM XLPE HS TYPE	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	1500	5,722.00	85,83,000.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2242/0A.04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	2	6468.00	5722.00
21	2004-05	2000681121	KIT TRNSN JNT 11KV 3CX150MM2 HS	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	10	5751.13	57511.3	408800018	Jointing Kit 11KV ST TH Transitional 3x150 SQ MM HEAT SHRINK	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	400	3,965.00	15,86,000.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2242/0A.04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Prices owe consider NDPL Unit Price.	10	5751.13	3965.00
22	2004-05	2000681121	KIT TRNSN JNT 11KV 3CX150MM2 HS	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	24	5228.3	125479.2	408800018	Jointing Kit 11KV ST TH Transitional 3x150 SQ MM HEAT SHRINK	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	400	3,965.00	15,86,000.00	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2424/04.04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	24	5228.30	3965.00

23	2005-06	2000734488	KIT,TRANSITION,J NT,OUT,11KV,3/ C 300MM2	кіт	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	149	5877.04	875678.96	4088000370	Jointing Kit 11KV ST TH Transitional 3x300 SQ MM HEAT SHRINK	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	1275	4,041.00	51,52,275.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/242/04,04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	149	5877.04	4041.00
24	2004-05	2000734488	KIT,TRANSITION,J NT,OUT,11KV,3/ C 300MM2		RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	5	5445	27225	4088000370	Jointing Kit 11KV ST TH Transitional 3x300 SQ MM HEAT SHRINK	Nos	Raychem RPG	Raychem	NDPL/ENGG/24 24/04	04-11-2004	1275	4,041.00	51,52,275.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/242/04,04.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	5	5445.00	4041.00
25	2004-05	2000069414	CHNL ISMC 100 100MM 50MM 4.7MM 7.5MM	МТ	RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	0.18	30140	5425.2	15003000050	CHANNEL MS SIZE 100X50 MM	TON	ORIENTAL FERRO ALLOYS LTD		NDPL/ENGG/35 45/05	09-11-2005	20	24,000.00	4,80,000.00	NDPL thickness not mentioned	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/EMGG/2515/04, 9.11.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	0.18	30140.00	27000.00
26	2005-06	2000558661	ANGL MTL EQ MS 50X50X6MM	МТ	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	0.27	37496.25	10123.988	15004000050	STEEL SUPPORTS, STRUCTURE INCLUDING FABRICATION & APPLYING 1 COAT OF RED OXIDE & 2 COAT OF SYNTHETIC ENAMEL PAINT		ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	5.726	27,500.00	1,57,465.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2515/04,30.11.20 04) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	0.27	37496.25	26100.00
27	2004-05	2000558661	ANGL MTL EQ MS 50X50X6MM	мт	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	5.997	33330	199880.01	15004000050	STEEL SUPPORTS, STRUCTURE INCLUDING FABRICATION & APPLYING 1 COAT OF RED OXIDE & 2 COAT OF SYNTHETIC ENAMEL PAINT		ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	5.726	27,500.00	1,57,465.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2515/04,30-11-2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	5.997	33330.00	26100.00
28	2005-06	2000743192	FITTING,S/SUSPE NSION,COMP.,F/ ACSR GOAT	EA	RELIANCE INFRSTRUCTURE LIMITED	23005151	19-May-05	16	2152.8	34444.8	12172000700	SINGLE TENSION HARDWARE FITTING FOR ACSR GOAT CONDUCTOR	NOS	AQUARIAN ENTERPRISES		NDPL/ENGG/17 27/04	28-02-2004	24	1,425.00	34,200.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENG6/2819/05,13.01.20 05) in which unit rate of NDPL less than BYPL Unit Price so we consider NDPL Unit Price.	16	2152.80	1370.30
29	2004-05	2000844541	DAMPER, VIBRATI ON, FOR ACSR GOAT CONDUCTOR	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	316	1150	363400	12172000060	VIBRATION DAMPER FOR GOAT COND	NOS	AQUARIAN ENTERPRISES		NDPL/ENGG/17 27/04	28-02-2004	132	380.00	50,160.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENG6/2819/05,13.01.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	316	1150.00	342.55
30	2004-05	2000678789	ARRESTOR,LIGHT NING,ZINC OXIDE,33KV,10K A	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	15	17250	258750	6015000030	33 KV Lighting Arrestor with Counter	NOS	Crompton Greaves Ltd	Crompto n Greaves	NDPL/ENGG/29 68/05	19-03-2005	50	10,887.55	5,44,377.60		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENG6/2968/05,19.03.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	15	17250.00	10887.55
31	2005-06	2000804059	SUB STATION,PACKA GE,990KVA,11/0. 433KV	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	26	1806949	46980675	17173001014	Pakage Substation Compresing 1 No. 3 way RMU, 990KVA_11/0-433 KV Dist. Transf Enclosure with conopy & Required LT System	SET	M/s Schneider Electric India Pvt. Ltd.	Schneide r	NDPL/ENGG/29 72/05	21-03-2005	2	14,50,000.00	29,00,000.00	NDPL model has Sub station Monitoring Device and Conventional Transformer whereas BSES has APFC in RMU and harmatically sealed transformer	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2977/05,21.03.2.0 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	26	1806949.04	1450000.00
32	2005-06	2000804059	SUB STATION,PACKA GE,990KVA,11/0. 433KV		RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	1	1806949	1806949	17173001014	Pakage Substation Compressing 1 No. 3 way RMU, 990KVA, 11/0-433 KV Dist. Transf Enclosure with conopy & Required LT System		M/s Schneider Electric India Pvt. Ltd.	Schneide r	NDPL/ENGG/29 72/05	21-03-2005	2	14,50,000.00	29,00,000.00	NDPL model has Sub station Monitoring Device and Conventional Transformer whereas BSES has APFC in RMU and harmatically sealed transformer	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/2977/05,21.03.2 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	1	1806949.04	1450000.00
33	2005-06	2000804059	SUB STATION,PACKA GE,990KVA,11/0. 433KV	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	3	1806949	5420847.1	17173001014	Pakage Substation Compresing 1 No. 3 way RMU, 990KVA, 11/0-433 kV Dist. Transf Enclosure with conopy & Required LT System		M/s Schneider Electric India Pvt. Ltd.	Schneide r	NDPL/ENGG/29 72/05	21-03-2005	2	14,50,000.00	29,00,000.00	NDPL model has Sub station Monitoring Device and Conventional	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/3937/05,21.03.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	3	1806949.04	1450000.00
												1									ansionner				

34	2005-06	2000804059	SUB STATION,PACKA GE,990KVA,11/0. 433KV	EA	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	2	1772200	3544400	1717300101	Pakage Substation Compresing 1 No. 3 way RMU, 4 990(X)A, 1/10,433 KV Dist. Transf Enclosure with conopy & Required LT System	SET	M/s Schneider Electric India Pvt. Ltd.	Schneide r	NDPL/ENGG/29 72/05	21-03-2005	2	14,50,000.00	29,00,000.00	NDPL model has Sub station Monitoring Device and Conventional Transformer whereas BSES has APFC in RMU and harmatically sealed transformer	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDP/ENGC/2972/05,21,03.20 OS) in which unit rate of NDPL less than BYPL Unit Price so we consider NDPL Unit Price.	2	1772200.02	1450000.00
35	2005-06	2000804059	SUB STATION,PACKA GE,990KVA,11/0. 433KV	EA	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	2	1772199.6	3544399.3	1717300101	Pakage Substation Compresing 1 No. 3 way RMU, 4 990KVA, 11/0.433 KV Dist. Transf Enclosure with conopy & Required LT System	SET	M/s Schneider Electric India Pvt. Ltd.	Schneide r	NDPL/ENGG/29 72/05	21-03-2005	2	14,50,000.00	29,00,000.00	NDPL model has Sub station Monitoring Device and Conventional Transformer whereas BSES has APFC in RMU and harmatically sealed transformer	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDP_LMGC/9372/05,21.03.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	2	1772199.63	1450000.00
36	2004-05	2000804059	SUB STATION,PACKA GE,990KVA,11/0. 433KV	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	16	1737450.5	27799208	1717300101	Pakage Substation Compressing 1 No. 3 way RMU, 9 990RV3, IJ/04-33 KV Dist. Transf Enclosure with conopy & Required LT System	SET	M/s Schneider Electric India Pvt. Ltd.	Schneide r	NDPL/ENGG/29 72/05	21-03-2005	2	14,50,000.00	29,00,000.00	NDPL model has Sub station Monitoring Device and Conventional Transformer whereas BSES has APFC in RMU and harmatically sealed transformer	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDP/ENGC/2972/05,21.03.20 05) in which unit rate of NDE less than BYPL Unit Price so we consider NDPL Unit Price.	16	1737450.53	1450000.00
37	2005-06	2000677008	INSULATOR,DISC, 11KV,90KN,CREE P:320/165MM	EA	RELIANCE INFRSTRUCTURE LIMITED	23005151	19-May-05	472	342.5136	161666.42	9010000300	11KV DISC INSULATORS 90 KN	NOS	M/s Indian Rayon and Industries Ltd.		NDPL/ENGG/31 65/05	30-05-2005	3000	303.33	9,10,004.16	In NDPL material creepage specification not mentioned.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/3165/05,30.05.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	472	342.51	303.33
38	2005-06	2000677008	INSULATOR,DISC, 11KV,90KN,CREE P:320/165MM	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	616	342.16	210770.56	9010000300	11KV DISC INSULATORS 90 KN	NOS	M/s Indian Rayon and Industries Ltd.		NDPL/ENGG/31 65/05	30-05-2005	3000	303.33	9,10,004.16	In NDPL material creepage specification not mentioned.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/3165/05, 30.05.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	616	342.16	303.33
39	2004-05	2000677008	INSULATOR,DISC, 11KV,90KN,CREE P:320/165MM	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	160	329.34	52694.4	9010000300	11KV DISC INSULATORS 90 KN	NOS	M/s Indian Rayon and Industries Ltd.		NDPL/ENGG/31 65/05	30-05-2005	3000	303.33	9,10,004.16	In NDPL material creepage specification not mentioned.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/3165/05,30.05.20 05) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	160	329.34	303.33
40	2004-05	2000700119	KIT CBL TERN IND 11KV 3CX150MM2 HS PILCA	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	5	5388.24	26941.2	408800023	3 C X 150 SQMM, PILC HEAT SHRINK, INDOOR	NOS	RAYCHEM RPG	RAYCHE M RPG	NDPL/ENGG/60 4/03	10-02-2003	75	2,251.60	1,68,870.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/604/03,10.02.200 3) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	5	5388.24	2251.60
41	2005-06	2000744032	CLAMP,SUSPENSI ON,F/11KV,3CX1 50+1CX150MM2	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	9	264.16	2377.44	4084003200	Suspension Clamp Suitable for 11KV ABC Cable 3C x120 to 150 SQ MM	NOS	Ultima Switchgears and Projects Pvt Ltd		NDPL/ENGG/AP DRP/814/04	20-05-2004	1000	165.00	1,65,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1052/04, 29.11.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	9	264.16	174.00
42	2005-06		CLAMP,SUSPENSI ON,F/11KV,3CX1 50+1CX150MM2		RELIANCE INFRSTRUCTURE LIMITED	23006995	13-Oct-05	200	220.168	44033.6	4084003200	Suspension Clamp Suitable for 11KV ABC Cable 3C x120 to 150 SQ MM	NOS	Ultima Switchgears and Projects Pvt Ltd		NDPL/ENGG/AP DRP/814/04	20-05-2004	1000	165.00	1,65,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1052/04, 2011.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	200	220.17	174.00
43	2005-06	2000743985	CBL AB 11KV XLPE AL 3CX150MM2+1C X150MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	23055.2	583.7256	13457922	4025000220	Cable ABC 11KV Size 3C X 150 + 1C 150SQMM XLPE STRD ALU COND W/Bare Catenaries Neutral Cum Messenger Wire of ALU Alloy.	MTR	M/s CRYSTAL CABLE	Crystal	NDPL/ENGG/AP DRP/1060/04	04-11-2004	25000	550.00	1,37,50,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1060/04,0 4.11.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	23055.22	583.73	550.00
44	2005-06	2000802927	CLAMP DEAD END MESSNGR WIRE,35-70 SQ MM	EA	RELIANCE INFRSTRUCTURE LIMITED	23007066	20-Oct-05	910	239.2	217672	4084003600	Anchor (Dead end clamp) Suitable For 11KV ABC cable size 3C x 70 and 95 SQMM	NOS	Ultima Switchgears and Projects Pvt Ltd		NDPL/ENGG/AP DRP/814/04	20-05-2004	2000	180.00	3,60,000.00	Size of cap does not match.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1031/04, 29.08.2005) in which unit rate of NDPL is less than BYPL Unit Price. so we consider NDPL Unit Price.	910	239.20	209.00

45	2005-06	2000676327	INSULATOR,SHA CKLE,MEDIUM VOLTAG,90X75M M2	EA	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	205	13.48875	2765.1938	901000015	D SHACKLE INSULATOR BROWN GLAZED MEDIUM	NOS	HUNDUSTAN CHEMICALS		NDPL/ENGG/AP DRP/1207/05	08-02-2005	5000	8.72	43,600.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1207/05,0 8.02.2005) in which unit rate of NDPL is less than BYPL unit Price so we consider NDPL Unit Price.	205	13.49	8.72
46	2004-05	2000676327	INSULATOR,SHA CKLE,MEDIUM VOLTAG,90X75M M2	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	835	11.99	10011.65	901000015	SHACKLE INSULATOR BROWN GLAZED MEDIUM	NOS	HUNDUSTAN CHEMICALS		NDPL/ENGG/AP DRP/1207/05	08-02-2005	5000	8.72	43,600.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1207/05, 0. 20.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	835	11.99	8.72
47	2005-06	2000801999	CONNECTOR,INS ULTION PIERCING,16/95 SQMM	EA	RELIANCE INFRSTRUCTURE LIMITED	23007060	19-Oct-05	910	110.24	100318.4	408400115	Insutating Piercing Connector for LT ABC Cable Main 16-95 SQMM & 5-10 SQ MM ST. Lighting	NOS	Ultima Switchgears and Projects Pvt Ltd		NDPL/ENGG/AP DRP/814/04	20-05-2004	1000	50.00	50,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1208/05, 16.02.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	910	110.24	68.00
48	2005-06	2000682848	CBL ELEC AR 11000V XLPE AL 3C 300MM2	М	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	6087.86	1332.5	8112076.1	408300030	CABLE 11 KV ALU COND 3 C X 300 SQMM ARMOURED XPLE INSULATED INNER SHEATH OF THERMO PLASTIC MATERIAL AND OVERALL PVC SHEATHED	MTR	M/S TORRENT POWER AEC LIMITED	TORREN T	NDPL/ENGG/AP DRP/1623/05	26-10-2005	500	1,261.10	6,30,550.00	Our material is also with round wire.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1228/05, 2 1.03.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	6087.862	1332.50	1286.02
49	2005-06	2000682848	CBL ELEC ARM 11KV XLPE AL 3C 300MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	44977.3	1332.5	59932220	408300030	CABLE 11 KV ALU COND 3 C X 300 SQMM ARMOURED XPLE DI INSULATED INNER SHEATH OF THERMOP DEASTIC MATERIAL AND OVERALL PVC SHEATHED	MTR	M/S TORRENT POWER AEC LIMITED	TORREN T	NDPL/ENGG/AP DRP/1623/05	26-10-2005	500	1,261.10	6,30,550.00	Our material is also with round wire.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1228/05, 2 1.03.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	44977.276	1332.50	1286.02
50	2005-06	2000682848	CBL ELEC ARM 11KV XLPE AL 3C 300MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	913	1332.5	1216572.5	408300030	CABLE 11 KV ALU COND 3 C X 300 SQMM ARMOURED XPLE 0 INSULATED INNER SHEATH OF THERMO PLASTIC MATERIAL AND OVERALL PVC SHEATHED		M/S TORRENT POWER AEC LIMITED	TORREN T	NDPL/ENGG/AP DRP/1623/05	26-10-2005	500	1,261.10	6,30,550.00	Our material is also with round wire.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1228/05, 2 1.03.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	913	1332.50	1286.02
51	2005-06	2000682848	CBL ELEC ARM 11KV XLPE AL 3C 300MM2	М	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	1000	1332.5	1332500	408300030	CABLE 11 KV ALU COND 3 C X 300 SQMM ARMOURED XPLE 0 INSULATED INNER SHEATH OF THERMO PLASTIC MATERIAL AND OVERALL PVC SHEATHED	MTR	M/S TORRENT POWER AEC LIMITED	TORREN T	NDPL/ENGG/AP DRP/1623/05	26-10-2005	500	1,261.10	6,30,550.00	Our material is also with round wire.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1228/05, 2 1.03.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	1000	1332.50	1286.02
52	2005-06	2000682848	CBL ELEC ARM 11KV XLPE AL 3C 300MM2	М	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	3415	1306.875	4462978.1	408300030	CABLE 11 KV ALU COND 3 C X 300 SQMM ARMOURED XPLE 0 INSULATED INNER SHEATH OF THERMO PLASTIC MATERIAL AND OVERALL PVC SHEATHED	MTR	M/S TORRENT POWER AEC LIMITED	TORREN T	NDPL/ENGG/AP DRP/1623/05	26-10-2005	500	1,261.10	6,30,550.00	Our material is also with round wire.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDP/ENGG/APDRP/1228/05,2 1.03.2005) in which unit rate of NDPL is less than BYPL unit Price so we consider NDPL Unit Price.	3415	1306.88	1286.02
53	2004-05	2000674998	CBL ELEC ARM 1.1KV XLPE AL 2C 10MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23004527	14-Mar-05	147103	47.02	6916783.1	410200001	0 1.1KV GRADE 2X10 SQMM	MTR	PARAGON CABLE INDIA		NDPL/ENGG/AP DRP/1303/05	27-05-2005	300000	43.62	1,30,86,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1303/05, 27.05.2005) in which unit rate of NDPL is less than BYPL unit Price so we consider NDPL unit Price.	147103	47.02	43.62
54	2005-06	2000674998	CBL ELEC ARM 1.1KV XLPE AL 2C 10MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	87374	47.9604	4190492	410200001	0 1.1KV GRADE 2X10 SQMM	MTR	PARAGON CABLE INDIA		NDPL/ENGG/AP DRP/1303/05	27-05-2005	300000	43.62	1,30,86,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1303/05, Z 7.05.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	87374	47.96	43.62
55	2004-05	2000674998	CBL ELEC ARM 650/1100V XLPE AL 2C 10MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	80	47.02	3761.6	410200001	0 1.1KV GRADE 2X10 SQMM	MTR	PARAGON CABLE INDIA		NDPL/ENGG/AP DRP/1303/05	27-05-2005	300000	43.62	1,30,86,000.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1303/05, 2 7.05.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	80	47.02	43.62
56	2004-05	2000558661	ANGL MTL EQ MS 50X50X6MM	МТ	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	10	39675	396750	150040000	STEEL SUPPORTS, STRUCTURE INCLUDING FABRICATION & 40 APPLYING 1 COAT OF RED OXIDE & 2 COAT OF SYNTHETIC ENAMEL PAINT	TON	ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	5.726	27,500.00	1,57,465.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1344/05, 2 1.07.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	10	39675.00	26100.00

57	2005-06	2000678787	ARRESTOR,LIGHT NING,ZINC OXIDE,9KV,5KA	EA	RELIANCE INFRSTRUCTURE LIMITED	23005151	19-May-05	6	15548	93288	60130000	LIGHTING ARRESTOR RATED 9KV, 5KA SUITABLE FOR 11KV SOLIDTY GROUND NEUTRAL SYSTEM TYPE ZODIVER	NOS	L&T LTD-ECC		NDPL/ENGG/AP DRP/718- 719/04	12-04-2004	78	550.00	42,900.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1344/05,2 1.07.2005) in which unit rate of NDPL is less than BYPL unit Price so we consider NDPL unit Price.	6	15548.00	488.75
58	2004-05	2000678787	ARRESTOR,LIGHT NING,ZINC OXIDE,9KV,5KA	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	3	14950	44850	60130000	LIGHTING ARRESTOR RATED 9KV, 5KA SUITABLE FOR 11kV SOLIDTY GROUND NEUTRAL SYSTEM TYPE ZODIVER	NOS	L&T LTD-ECC		NDPL/ENGG/AP DRP/718- 719/04	12-04-2004	78	550.00	42,900.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1344/05, 2 1.07.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	3	14950.00	488.75
59	2005-06	2000675455	CONDUCTOR,AC SR,PVC INS,RABBIT,32.2 6 MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	6500	37.7808	245575.2	10320000	PVC INSULATED ACSR RABBIT CONDUCTOR 61.70 SQ. MM (WIRESIZE 6+ 1/3.35 NO/MM)	MTR	L&T LTD-ECC		NDPL/ENGG/AP DRP/718- 719/04	12-04-2004	390	58.30	22,737.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1359/05, 0906.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	6500	37.78	29.90
60	2004-05	2000675455	CONDUCTOR,AC SR,PVC INS,RABBIT,32.2 6 MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	87420	37.04	3238036.8	10320000	PVC INSULATED ACSR RABBIT 5 CONDUCTOR 61.70 SQ. MM (WIRESIZE 6+ 1/3.35 NO/MM)		L&T LTD-ECC		NDPL/ENGG/AP DRP/718- 719/04	12-04-2004	390	58.30	22,737.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1359/05, 0906.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	87420	37.04	29.90
61	2004-05	2000675455	CONDUCTOR,AC SR,PVC INS,RABBIT,32.2 6 MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23004527	14-Mar-05	18666	37.04	691388.64	10320000	PVC INSULATED ACSR RABBIT CONDUCTOR 61.70 SQ. MM (WIRESIZE 6+ 1/3.35 NO/MM)		L&T LTD-ECC		NDPL/ENGG/AP DRP/718- 719/04	12-04-2004	390	58.30	22,737.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1359/05, 0906.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	18666	37.04	29.90
62	2005-06	2000680507	CONDUCTOR,AC SR,PVC INS,DOG,64.52 MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23006984	11-Oct-05	62893	57.5016	3616448.1	10320000	SUPPY OF ACSR CONDUCTOR DOG	MTR	KRISHNA ELECTRICAL INDUSTRIES LTD		NDPL/ENGG/79 5/03	08-04-2003	10000	37.52	3,75,190.40		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1404/05, I 8.08.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	62893	57.50	52.77
63	2005-06	2000680507	CONDUCTOR,AC SR,PVC INS,DOG,64.52 MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	1000	53.8304	53830.4											Similar PO not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1404/05, 1 8.08.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	1000	53.83	52.77
64	2005-06	2000680507	CONDUCTOR,AC SR,PVC INS,DOG,64.52 MM2	м	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	93604	52.7952	4941841.9											Similar PO not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1404/05, 1 8.08.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	93604	52.80	52.77
65	2005-06	2000775735	FEEDER PILLAR,A- TYPE,I/C:2,O/G:6 ,W/LINK	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	170	36920	6276400	172110000	20 LT FEEDER PILLAR TYPE A	NOS	M/s Advance Panels & Switchgears (P) Ltd		NDPL/ENGG/AP DRP/970/04	05-08-2004	50	30,624.00	15,31,200.00	Specifications of NDPL not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1510/05, 11.10.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	170	36920.00	33062.00
66	2004-05	2000775735	FEEDER PILLAR,A- TYPE,I/C:2,O/G:6 ,W/LINK	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	148	35500	5254000	172110000	20 LT FEEDER PILLAR TYPE A	NOS	M/s Advance Panels & Switchgears (P) Ltd		NDPL/ENGG/AP DRP/970/04	05-08-2004	50	30,624.00	15,31,200.00	Specifications of NDPL not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1510/05,1 1.10.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	148	35500.00	33062.00
67	2004-05	2000674999	CBL ELEC ARM 650/1100V XLPE AL 2C 25MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23004582	21-Mar-05	10055	68.62	689974.1	41020000	. 1.1KV GRADE 2X25 SQMM	MTR	PARAMOUNT COMMUNICATI ON LIMITED		NDPL/ENGG/AP DRP/1595/05	27-10-2005	50000	59.40	29,69,800.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/1595/05, 2, 7.10.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	10055	68.62	59.40
68	2004-05	2000767387	PIPE,EARTH,GI,P ERFORATED,40M M,CL.B,2.5M	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	14	1029.6	14414.4	140750003	40MM DIA 'A' CLASS GI PIPE 20 OF 2.5 MTR. LONG FOR EARTHING	MTR	ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	187.5	154.00	28,875.00	BRPL rate is per Piece whereas rate of NDPL is per meter.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/Engg/APDRP/36s/03, 26.09.2003) in which unit rate of NDPL is less than BYPL Unit Price, in BYPL Rate was calculated on per Pleve basis of 2.5 Mtrs but in NDPL it was per meter basis, so quantity was converted in to per piece	14	1029.60	385.00

69	2005-06	2000767387	PIPE,EARTHING, GI,PERFO,40MM X2.5M,CLAS:B	EA	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	412	485.15625	199884.38	14075000120	40MM DIA 'A' CLASS GI PIPE OF 2.5 MTR. LONG FOR EARTHING	MTR	ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	187.5	154.00	28,875.00	BRPL rate is per Piece whereas rate of NDPL is per meter.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/Enge/APRB/368/03, 26.09.2003) in which unit rate of NDPL is less than BYPL Unit Price, so we consider NDPL unit Price, in BYPL Rate was calculated on per Piece basis of 2.5 Mtrs but in NDPL it was per meter basis, so quantity was converted in to per piece	412	485.16	385.00
70	2005-06	2000767387	PIPE,EARTHING, GI,PERFO,40MM X2.5M,CLAS:B	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	200	448.5	89700	14075000120	40MM DIA 'A' CLASS GI PIPE OF 2.5 MTR. LONG FOR EARTHING	MTR	ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	187.5	154.00	28,875.00	BRPL rate is per Piece whereas rate of NDPL is per meter.	BYPL PO was Compared with the nearest purchase date of NDPL PO NDPL/Enge/APDR/368/03, 26.09.2003) in which unit rate of NDPL is less than BYPL Unit Price, so we consider NDPL Unit Price, may be a not on the NDPL and the NDPL Rest was calculated on per Piece basis of 2.5 Mrts but in NDPL it was per meter basis, so quantity was converted in to per piece	200	448.50	385.00
71	2005-06	2000767387	PIPE,EARTHING, GI,PERFO,40MM X2.5M,CLAS:B	EA	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	70	439.875	30791.25	14075000120	40MM DIA 'A' CLASS GI PIPE OF 2.5 MTR. LONG FOR EARTHING	MTR	ABSOLUTE PROJECTS PVT. LTD.	ABSOLU TE PROJECT S PVT. LTD.	NDPL/ENGG/PD RP/368/03	26-09-2003	187.5	154.00	28,875.00	BRPL rate is per Piece whereas rate of NDPL is per meter.	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/Engl/APDRP/368/03, 26.09.2003) in which unit rate of NDPL is less than BYPL Intle Price so we consider NDPL Unit Price, in SYPL Rate was calculated on per Piece basis of 2.5 Mtrs but in NDPL it was per meter basis, so quantity was converted in to per piece	70	439.88	385.00
72	2004-05	2000815075	CONN CBL CRP SOCKET AL 300MM2 ALS- XL27	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	122	46.16	5631.52	4085000311	ALU LUG SOCKET CRIMPING TYPE SIZE 300 SQMM FOR XLPE SINGLE HOLE TUBE TERMINAL	NOS	SHYAM INDUS POWER SOLUTION		NDPL/ENGG/AP DRP/499/03	29-10-2004	128	33.00	4,224.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/499/03,29 .10,2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	122	46.16	33.00
73	2005-06	2000743841	TRANSFORMER,C SP,25KVA,1PH,6. 35/0.24KV	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	160	39262.08	6281932.8	18064000065	TRANSFORMER 25 KVA, 3 PH, 50Hz, 11KV/440V COPPER WOUND OIL TYPE	NOS	M/s L&T Ltd ECC	L&T	NDPL/ENGG/AP DRP/1344/05	21-07-2005	9	49,731.00	49,731.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDR/514/04, 09.01.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	160	39262.08	33144.10
74	2004-05	2000743841	TRANSFORMER,C SP,25KVA,1PH,6. 35/0.24KV	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004527	14-Mar-05	107	37752	4039464	18064000062	TRANSFORMER 25 KVA, 1 PH, 50Hz, 11 KV/240V COPPER WOUND OIL TYPE	NOS	M/s L&T Ltd ECC	L&T	NDPL/ENGG/AP DRP/514/04	09-01-2004	2	33,144.10	66,288.20		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDR/514/04, 09.01.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	107	37752.00	33144.10
75	2005-06	2000744033	CLAMP,SUSPENSI ON F/11KV,1CX95+1 CX35MM2	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	42	234	9828	4084003150	SUSPENSION CLAMP SUITABLE FOR 11KV ABC CABLE 3 X 95 + 1 X 95 SQMM SUSPENSION CLAMP SUITABLE FOR 11KV ABC CABLE 3 X 95 + 1 X 95 SQMM	NOS	M/s L&T Ltd ECC	L&T	NDPL/ENGG/AP DRP/514/04	09-01-2004	6	193.60	1,161.60	Clamp size different in BSES & NDPL	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDR/536/04, 21.07.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	42	234.00	225.40
76	2004-05	2000675354	CBL ELEC AR 1.1KV PVC in CU 6C 2.5MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	11000	86.25	948750	4026000013	CABLE COPPER CONDUCTOR 6CX2.5 SQMM\ SQMM ARMOURED 1.1 KV FRLS	MTR	M/S TCL SPECIAL CABLES LTD		NDPL/ENGG/16 23/03	27-11-2003	4000	49.88	1,99,520.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/643/04,29 .09.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	11000	86.25	73.00
77	2004-05	2000691726	T-CONNECTOR F/ZEBRA CONDUCTOR	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	25	460	11500	12172001011	T CONNECTOR FOR TWIN ACSR ZEBRA CONDUCTOR	NOS	EMCO LTD	EMCO LTD	NDPL/ENGG/AP DRP/643/04	29-09-2005	18	450.00	8,100.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/643/04,29 .99.2005) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	25	460.00	450.00
78	2004-05	2000675003	CBL ELEC ARM 650/1100V XLPE AL 1C 300MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	15981.5	155.98	2492794.4	409000290	1.1KV grade, 1 X 300sqmm stranded aluminium conductor, XIPE insulated, unarmoured, PVC extruded inner sheath and overall black PVC outer sheathed cable of following sizes as per IS 7098(Part-1)/88 with latest amendments:	км	M/s POLYCAB WIRES PVT LTD		NDPL/ENGG/AP DRP/421/03	25-11-2003	5	1,24,334.60	6,21,673.00	NDPL cable is unarmoured whereas BSES cable is armoured	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/718-719/04,12.04.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	15981.5	155.98	137.50
79	2004-05	2000695300	CBL ELEC N- 1.1KV AL XLPE 1C 630MM2	м	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	27951	344.31	9623808.8	4090000630	CABLE 1.1KV ALU COND SIZE 1 C X630 SQMM XLPE INSULATED FRLS PVC OUTER SHEATHED UNARMOURED	MTR	L&T LTD-ECC		NDPL/ENGG/AP DRP/718- 719/04	12-04-2004	240	280.50	67,320.00	Specifications of NDPL not available	BYPL PO was Compared with the nearest purchase date of NDPL PONDPL/ENGG/APDPP/T18- 719/04,12.04.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	27951	344.31	280.50

80	2004-05	2000680749	CT/PT,COMBINE D,PT:11KV/110V, CT:300/5A	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	11	24757	272327	17231000648	11kV CT PT UNIT with CT Ratio 300/5A	NOS M/s ADHUNIK YANTRA UDYOG (P) LTD.	Adhunik	NDPL/ENGG/AP DRP/739/04	06-04-2004	8	21,800.00	1,74,400.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/739/04, 06.04.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	11	24757.00	21800.00
81	2004-05	2000693141	FUSE,DD,100 AMP,11 KV	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	3	4207.49	12622.47	60284000015	Fuse unit drop down 11kv 40AMp, 1Ph w/ Insulator	NOS LARSEN & TOUBRO LTD		NDPL/ENGG/AP DRP/792/04	17-05-2004	61	2,161.50	1,31,851.50	NDPL fuse is 40Amp whereas BSES fuse is 100Amp	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/792/04,17 .05.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	3	4207.49	2161.50
82	2004-05	2000767047	METER BOX F/1PH STATIC ENERGY METER	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003748	03-Jan-05	25000	232	5800000	10109000062	BOX FOR 1 PHASE METER, TAMPER PROOF MOULDED PLASTIC FIRE RETARDANT WITH VIEWING WINDOW 80 X 80 MM	NOS M/S GENUS OVERSEAS ELECTRONICS LTD.	GENUS	NDPL/ENGG/AP DRP/858/04	24-06-2004	80000	197.00	1,57,59,648.16		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDR/PSS8/04,24 .06.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	25000	232.00	197.00
83	2004-05	2000767047	METER BOX F/1PH STATIC ENERGY METER	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003742	31-Dec-04	35000	205.57	7194950	10109000062	BOX FOR 1 PHASE METER, TAMPER PROOF MOULDED PLASTIC FIRE RETARDANT WITH VIEWING WINDOW 80 X 80 MM	NOS M/S GENUS OVERSEAS ELECTRONICS LTD.	GENUS	NDPL/ENGG/AP DRP/858/04	24-06-2004	80000	197.00	1,57,59,648.16		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDR/9858/04,24 .06.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	35000	205.57	197.00
84	2005-06	2000692879	FEEDER PILLAR,B- TYPE,I/C:1,O/G:4 ,W/LINK	EA	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	95	25875	2458125	17211000030	LT FEEDER PILLAR TYPE B	Shriram NOS Switchgear Pvi Ltd		NDPL/ENGG/AP DRP/969/04	05-08-2004	50.00	23490	11,74,500.00	Specifications of NDPL not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/969/04, 05.08.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	95	25875.00	23490.00
85	2005-06	2000692879	FEEDER PILLAR,B- TYPE,I/C:1,O/G:4 ,W/LINK		RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	40	23920	956800	17211000030	LT FEEDER PILLAR TYPE B	Shriram NOS Switchgear Pvi Ltd		NDPL/ENGG/AP DRP/969/04	05-08-2004	50.00	23490	11,74,500.00	Specifications of NDPL not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/ENGG/APDRP/969/04, 05.08.2004) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	40	23920.00	23490.00
86	2005-06	2000678517	WIRE,STAY,GI,7/ 8SWG	KG	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	0.02	44.72	0.8944								-		Similar PO not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/MM/2408/04,04.11.200 4) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	0.02	44.72	33.41
87	2005-06	2000678517	WIRE,STAY,GI,7/ 8SWG	KG	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	23233.7	44.616	1036595.2								-		Similar PO not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/MM/2408/04,04.11.200 4) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	23233.71	44.62	33.41
88	2005-06	2000678517	WIRE,STAY,GI,7/ 8SWG	KG	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	58.4	44.616	2605.5744								-		Similar PO not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/MM/2408/04,04.11.200 4) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	58.4	44.62	33.41
89	2004-05	2000678517	WIRE,STAY,GI,7/ 8SWG	KG	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	4533.15	42.900001	194472.14								-	-	Similar PO not available	BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/MM/2408/04,04.11.200 4) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	4533.15	42.90	33.41
90	2004-05	2000777142	ARMS,CROSS,GI F/11KV OVERHEAD LINES	EA	RELIANCE INFRASTRUCTUR E LIMITED	23008096		14	542.19375	7590.7125	12026000010	V-Cross Arm Steel for 11KV	Bahubali NOS Engineers & Contractors		NDPL/MM/3519 /05	24-10-2005	1500	425.81	6,38,715.00		BYPL PO was Compared with the nearest purchase date of NDPL PO(NDPL/MM/3519/05,24.10.200 5) in which unit rate of NDPL is less than BYPL Unit Price so we consider NDPL Unit Price.	14	542.19	425.81
91	2004-05	2000676846	TRANSFORMER,9 90KVA,11KV/433 V,OIL TYPE		RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	117	600039.04	70204568									-	Similar PO not available	Material Found in GRN data	117	420589	420589
92	2004-05	2000766799	RMU,11KV,350M VA,SF6,630A,I/D, EXT,3WAY		RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	82	462000	37884000								-	-	Similar PO not available	Material Found in GRN data	82	450000	450000
93	2004-05	2000781914	CIR BR AIR 4P 415V 400A	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	815	24438	19916970									-	Similar PO not available	Material Found in GRN data	815	23000	23000

94	2004-05	2000048043	CBL ELEC AR 11000V XLPE AL 3C 150MM2	М	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	7443	861.92	6415270.6	Similar PO not available Material Found in GRN data	7443	770	770
95	2004-05	2000676846	TRANSFORMER,9 90KVA,11KV/433 V,OIL TYPE	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004527	14-Mar-05	3	600039.04	1800117.1	Similar PO not available Material Found in GRN data	3	420589	420589
96	2004-05	2000766799	RMU,11KV,350M VA,SF6,630A,I/D, EXT,3WAY	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004527	14-Mar-05	2	462000	924000	- Similar PO not available Material Found in GRN data	2	450000	450000
97	2004-05	2000766799	RMU,11KV,350M VA,SF6,630A,I/D, EXT,3WAY	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004593	22-Mar-05	1	462000	462000	- Similar PO not available Material Found in GRN data	1	450000	450000
98	2004-05	2000447856	FITTING,INDUST RIAL,STREETLIGH T,250W,HPSV	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	242	3301.98	799079.16	Similar PO not available Material Found in GRN data	242	1716	1716
99	2005-06	2000763092	RMU,11KV,350M VA,630A,SF6,EXT ENDABLE	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	1	443549.6	443549.6	Similar PO not available Material Found in GRN data	1	397700	397700
100	2005-06	2000763092	RMU,11KV,350M VA,630A,SF6,EXT ENDABLE	EA	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	1	435020.35	435020.35	Similar PO not available Material Found in GRN data	1	397700	397700
101	2005-06	2000678770	ISOLATOR,33KV, 1250A,3P,W/O EARTH SWITCH	EA	RELIANCE INFRSTRUCTURE LIMITED	23005114	17-May-05	10	48113.884	481138.84	Similar PO not available Material Found in GRN data	10	39500	39500
102	2004-05	2000262574	ANGL MTL EQ MS 75X75X6MM	MT	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	10	39675	396750	Similar PO not available Material Found in GRN data	10	37000	37000
103	2004-05	2000691731	P.G. CLAMP,F/ACSR GOAT CONDUCTOR	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003573	15-Dec-04	1028	287.5	295550	Similar PO not available Material Found in GRN data	1028	286	286
104	2005-06	2000688296	SCREW,TENSION, GI;20X750MM	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	800	446.16	356928	Similar PO not available Material Found in GRN data	800	336.3750105	336.3750105
105	2005-06	2000690348	ANCHOR ROD,SIZE:7.1/2'L GX3/4"DIA	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	908	280.8	254966.4	Similar PO not available Material Found in GRN data	908	268.875	268.875
106	2005-06	2000777085	INSULATOR, DISC, 11KV,70KN,CREE P:280-320MM	EA	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	480	303.89625	145870.2	Similar PO not available Material Found in GRN data	480	266.0429	266.0429
107	2005-06	2000688131	PIN,GI,FOR 11KV PIN INSULATOR	EA	RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	2572	76.96	197941.12	Similar PO not available Material Found in GRN data	2572	42	42
108	2005-06	2000781738	CBL ELEC ARM 1.1KV PVC in CU 7 CORE	М	RELIANCE INFRASTRUCTUR E LIMITED	23007347	21-Nov-05	1005	95.265	95741.325	Similar PO not available Material Found in GRN data	1005	85.74491966	85.74491966
109	2004-05	2000687194	CONDUCTOR,AC SR,UN INSULATED,SQUI RREL	М	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	11000	11.28	124080	Similar PO not available Material Found in GRN data	11000	7.491583996	7.491583996
110	2004-05	2000762650	PIPE,HUME,RCC, 150MM DIA,2MTR LONG	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	493	379.1	186896.3	Similar PO not available Material Found in GRN data	493	163	163
111	2004-05	2000781914	CIR BR AIR 4P 415VAC 400A	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	2	24438	48876	Similar PO not available Material Found in GRN data	2	23000	23000

2004-05	2000676064	FITTING,SINGLE TENSION F/AAAC RABBIT	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	100	335.36	33536								-	-	Similar PO not available	Material Found in GRN data	100	320.9024	320.9024
2004-05	2000762649	PIPE,HUME,RCC, 200MM DIA,2MTR LONG		RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	140	516.8	72352								-	-	Similar PO not available	Material Found in GRN data	140	225	225
2004-05	2000048043	CBL ELEC ARM 11KV XLPE AL 3C 150MM2	М	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	30	861.92	25857.6								-	-	Similar PO not available	Material Found in GRN data	30	770	770
2004-05	2000777085	INSULATOR,DISC, 11KV,70KN,CREE P:280-320MM	EA	RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	68	270.13	18368.84								-	-	Similar PO not available	Material Found in GRN data	68	266.0429	266.0429
2004-05	2000688131			RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	326	74.14	24169.64								-	-	Similar PO not available	Material Found in GRN data	326	42	42
2005-06	2000777085	INSULATOR,DISC, 11KV,70KN,CREE P:280-320MM	EA	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	20	275.5326	5510.652									-	Similar PO not available	Material Found in GRN data	20	266.0429	266.0429
2004-05	2000777085	INSULATOR,DISC, 11KV,70KN,CREE P:280-320MM	EA	RELIANCE INFRASTRUCTUR E LIMITED	23004527	14-Mar-05	20	270.13	5402.6								-	-	Similar PO not available	Material Found in GRN data	20	266.0429	266.0429
2005-06	2000690319			RELIANCE INFRSTRUCTURE LIMITED	23005133	18-May-05	312	20.8	6489.6								-	-	Similar PO not available	Material Found in GRN data	312	9.81	9.81
2005-06	2000777085	INSULATOR,DISC, 11KV,70KN,CREE P:280-320MM	EA	RELIANCE INFRSTRUCTURE LIMITED	23005492	14-Jun-05	8	280.9352	2247.4816								-	-	Similar PO not available	Material Found in GRN data	8	266.0429	266.0429
2005-06	2000855569	INSULATOR,GUY, 11KV,HT,MOC:P ORCELAIN	EA	RELIANCE INFRSTRUCTURE LIMITED	23005457	13-Jun-05	80	22.7562	1820.496									-	Similar PO not available	Material Found in GRN data	80	9.81	9.81
2004-05	2000690319			RELIANCE INFRASTRUCTUR E LIMITED	23003707	29-Dec-04	13	20.28	263.64								-	-	Similar PO not available	Material Found in GRN data	13	9.81	9.81
	2004-05 2004-05 2004-05 2004-05 2004-05 2005-06 2005-06 2005-06	2004-05 2000762649  2004-05 2000048043  2004-05 2000777085  2004-05 2000777085  2005-06 2000777085  2005-06 2000777085	2004-05         200676064         TENSION F/AAAC RABBIT           2004-05         2000762649         PIPE, HUME, RCC, 200MM DIA, 2MTR LONG           2004-05         2000048043         CRI ELEC ARM 11KV XLPE AL 3C 150MM2           2004-05         2000777085         INSULATOR, DISC, 11KV, 70KN, CREE P.280-320MM           2004-05         2000777085         PIN, GI, FOR 11kV, 70KN, CREE P.280-320MM           2005-06         2000777085         INSULATOR, DISC, 11KV, 70KN, CREE P.280-320MM           2004-05         2000777085         INSULATOR, DISC, 11KV, 70KN, CREE P.280-320MM           2005-06         2000777085         INSULATOR, DISC, 11KV, 70KN, CREE P.280-320MM           2005-06         2000777085         INSULATOR, STAY INTOR, CREE P.280-320MM           2005-06         2000777085         INSULATOR, GREE P.280-320MM           2005-06         2000855569         INSULATOR, GREE P.280-320MM           2005-06         2000855569         INSULATOR, GREE P.280-320MM           3005-06         300690319         INSULATOR, GREE P.280-320MM           3005-06         300690319         INSULATOR, GREE P.280-320MM           3006-07         300690319         INSULATOR, GREE P.280-320MM	2004-05   2000676064   TENSION F/AAAC   EA   RABBIT   EA	2004-05   2000762649   TENSION F/AAAC   EA   INFRASTRUCTUR   ELIMITED	2004-05   2000762649   PIPE,HUME,RCC, 200MM   ELIMITED   23003707	2004-05   200077085   200077085   2000777085   2000777085   2000777085   2000777085   200077085   2000777085   2000777085   2000777085   2000777085   200077085   2000777085   2000777085   2000777085   2000777085   200077085   2000777085   2000777085   2000777085   2000777085   200077085   2000777085   2000777085   2000777085   2000777085   200077085   2000777085	2004-05   2000762649   TENSION F/AAAC   EA   INFRASTRUCTUR   23003707   29-Dec-04   100	2004-05   2000676064   TENSION F/ANAC   EA   INFRASTRUCTUR   23003707   29-Dec-04   100   335.36	2004-05	2004-05   200076664   TENSION F/AAAC   EA   NFRASTRUCTUR   23003707   29-Dec-04   100   335.36   33536	2004-05 2000770694 TRNSION F/AAC EA PARSTRUCTUR 22003707 29-Dec-04 100 335.36 33536   2004-05 2000762649 PFE,HUMERCC, 2004 EA BREANCE ELIMITED 23003707 29-Dec-04 140 516.8 72352   2004-05 2000048043 12X XIPE AL 3C 130MM2 M RELIANCE ELIMITED 23003707 29-Dec-04 140 516.8 72352   2004-05 2000777085 12XV,7DRAC,REE EA RELIANCE P-200-320MM FRASTRUCTUR 23003707 29-Dec-04 68 270.13 13588.84   2004-05 2000777085 12XV,7DRAC,REE EA RELIANCE P-200-320MM FRASTRUCTUR 23003707 29-Dec-04 68 270.13 13588.84   2005-06 2000777085 12XV,7DRAC,REE EA RELIANCE P-200-320MM ELIMITED 23003707 29-Dec-04 526 74.14 24169.64   2005-06 2000777085 12XV,7DRAC,REE EA RELIANCE P-200-320MM EA RELIANCE P-200-320MM EA RELIANCE P-200-320MM EA RELIANCE LIMITED 23005457 13-Jun-05 20 275.5326 5510.652   2005-06 2000777085 13XV,7DRAC,REE EA RELIANCE ELIMITED 23005457 13-Jun-05 20 275.5326 5510.652   2005-06 2000777085 13XV,7DRAC,REE EA RELIANCE ELIMITED 23005457 13-Jun-05 20 270.13 5402.6   2005-06 2000777085 13XV,7DRAC,REE EA RELIANCE ELIMITED 23005457 13-Jun-05 312 20.8 6489.6   2005-06 2000875389 18SULATOR,DISC, EA RELIANCE LIMITED 23005457 13-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE LIMITED 23005457 13-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE LIMITED 23005457 13-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE LIMITED 23005457 13-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE LIMITED 23005457 13-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE LIMITED 23005457 13-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE EA RELIANCE EA RELIANCE LIMITED 23005457 12-Jun-05 80 22.7562 1820.496   2005-06 2000855569 18SULATOR,DISC, EA RELIANCE EA RELIA	2004-05 2000676964 TERSON FIANAC EARLINGE RELIANCE RELIANCE 2003707 29-Dec-04 100 335.36 33536	2004-05 200077064 PROMONE/AMA DA MELIANCE DE LIMITO 20003707 22-Dec-04 100 335.36 335.36 335.36	2004-05 200077006 TINSON PAACE DE METANECTU 2003707 29 Dec 04 100 33.5.8 3338 3338 3338 3338 3338 3338 33	2004 02 2000/10/24 PRINCHARD CO DA PRINCHARD 2000/10/27 PRINCHARD CO DA PRINCHARD 2000/10/27 PRINCHARD CO DA P	2004-05 20000-06 PROJECTION OF THE PROJECTION OF THE PROJECTION 2 20000-07 20 20 00-00 1 100 100 100 100 100 100 100 10	2004-00   2008/1966   PRODUCTION   Company   Company	2004-07 2004-0	2004-09 2004-0	Processed   Proc	Processor   Proc	1905   1905